
[image: image5.png]People were asked if they were considering
changing what they eat.

29% of the people asked said yes.

Of these, 23% said they were considering becoming vegetarian.

What percentage of the people asked said they were considering
becoming vegetarian?
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[image: image1][image: image2.png]In 1976 the average yearly wage was £3275
On average, people spent 17% of £3275 on their family holiday.

How much is 17% of £32757

Show your working.
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[image: image3.png]In 2001 the average yearly wage was £21842
On average, people spent £1644 on their family holiday.

What percentage of the average yearly wage is that?

Show your working.
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[image: image4.png]People were asked if they were considering
changing what they eat.
29% of the people asked said yes.

Of these, 23% said they were considering becoming vegetarian.

What percentage of the people asked said they were considering
becoming vegetarian?
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